Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 5 21ME61
Sixth Semester B.E. Degree Examiﬁhtibn, June/July 2024
Production and Opera.t'ons Management
Time: 3 hrs. Max Marks: 100

Note: Answer any FIVE full questions,

choosing ONE full question from each module.

odule-1 .

Discuss the three major ﬁ.mctlonal areas of business orgamzatlons and describe how they
interrelate. (10 Marks)
List some factors that aﬁ‘cct productl\uty and some’ ways that productivity can be improved.
(06 Marks)

Calculate the multxfactor productmty for an eight-hour day, in which the output is 300units,
produced by three workers who use 600kg of material, The workers are paid wages of Rs.50
and material cost is Rs.10 per kg. Overheacgf;\s_w_ 1.5 times labour cost. (04 Marks)

.ff}

+»OR

Desctibe the following :
i) Decision making characterist
ii) Break Even Point (BEP), ) (10 Marks)
A fumiture company produces inexpensive tables:and chairs. Each: table takes 4 hours of
carpentry and 2 hours in the painting departmena Each chair requires3 hours of carpentry
and 1 hours in the painting department. Dunng the current production period, 240 hours of
carpentry time is available and 100 hours in painting is availa “"‘lég Each table sold yields a
profit of Rs.7; edéh chair produced is sold 5TF1
tables and chaif$) to manufacture it order to reach maxrmum profit. Use LPP (Linear

programming) method. (10 Marks)
Disc_ysé qualitative foreg;zis‘ (10 Marks)
; G1yen the followingg :
; 2003 | 4 5
e - "Number of complamts 65 | 55 | 58 | 64
Prepare a fotegcast for period 6 usmg ‘each of these approaches :
i) The appropriate naive approach
ii) A three-period movin g average
iii) A weighted average using weights of 0.50(most recent), 0.30 and 0.20
iv) Exponential smoothmg with a smoothing constant of 0.40. (10 Marks)
Discuss the sourees of idea for new design and services. (10 Marks)
Explain the 3R’s with respect to sustain ability in product design. (10 Marks)
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Module-3

Discuss the determinants for effective capa01ty A (10 Marks)
A small firm produces and sells automotive items in a five-state area. “The firm expects to
consolidate assembly of its battery chwgﬁrlpe in a single location. Currently operations are
in three widely scattered locations. The leadmg candidate for location will have a monthly
fixed cost of Rs.42,000 and vanabl osts of Rs.3 per charger. Charger sell for Rs.7 each.
Prepare a table that shows total profits, fixed costs, variable.co “and revenues for monthly
volumes of 10,000, 12,000 and%f ém,'llﬂ umts What is the brea%?%en point? (10 Marks)

‘%
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OR

a. Discuss the pnmary gég{onal factors mvolved 1n»}, 1dent1fylng a region during location
(10 Marks)

decision. 0 A
b. Usethe 1nformat10n contamed i the table sh wn

- H .E:ﬁ;-
Immediate predecessor

% Task taken, min

i) Draw a precedence, dmgfﬁ" :
ii) Assuming an eight = hour workday, comput
of 400units per day
iii) Determine theéj_,mnnnum number
iv) Assign tas‘kg% to workstations
Compute the resultin g percent i

&

qg‘kstatlons requu-;ﬁi{gg
?ﬁdmg to the greatest'number of following tasks.
ime and eﬁimency of the system. (10 Marks)

7 a. Exp!am bneﬂy the stratégms used in aggregaté plannmg (10 Marks)

“Company manufactum;g several models of’ bicycles are about to prepare a aggregate plan
hat will cover SiX; eriods. They have assembled the following information :

by

. "Penod 1 ;ﬂ;;’f 3 4 5 6 | Total
! Forecast | 200, 200 | 300 | 400 | 500 | 200 | 1800

g
Output : Regular time %@QOO per bicycle
Inventory = Rs!100 per bicycle per period an average
Back orders < Rs.50per bicycle per period
The firm wants o evaluate a plan that calls for a steady rate of regular—time output. Prepare

an aggregate plan and determine the total cost. Assume a level output rate of 300 units.
(10 Marks)
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OR "
Discuss master scheduling process with the help ot;a flow chart. (10 Marks)
A manufacturing plant is in the process of gpdatn‘ig its Master Productlml Schedule (MPS)
for its products. The plant produces a prgdu f'as a produce to stock basis. The table below
shown hours the estimates of demand fo %;product for the next six weeks

Weck
1 2 4 5 6

Customers (forecasts) »ﬂ}jﬁ%l’d@l‘ﬁ 700 1200 ';? 500 400 1200

df“@‘

Type of deman

Warehouses _ 100 | 100 200 | 500 | 200 | 100
Market research ™, - |80y | - = 10 _
Production Rese'"ﬁre 10 | = _ _ - -
?%g@ &
The safety stock ‘Eeve} minimum lot sizes and: bégmmng inventory level for the product are :
. & é{...,g %
| Minimum lot size | Sa@fety stock | Beginning inventory
2000 = 500

o .
Prepare a six week detailed MPS for the product and. determine the prcpq(_lp%tion run periods.
A by ~ (10 Marks)

tputs from MRP systzm (10 Marks)

Compute the ﬁﬁgfenal requirement, plan’ for an 1tem shown in below. This item has an

mdependent demand and a safcty lock

I‘

Order:quantity = 70 Le -
—4weckssafetyloc%§ 40 [ 2|3 456|789 101112
Projected requiremeént | 20 | 20,25 | 20 | 20 | 25 |20 {20 |30 | 25 | 25 | 25
Ty @
Recgipts'
Availab _o“nﬁand /165

Plaringd o rder release

7 : (10 Marks)

Discuss the concepts of tenders and explain its types. (10 Marks)
Give a companson*ﬁetwcen the two approaches to supply management. (10 Marks)
* ok % ¥k
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